Elements - Set |

Class

Date

Which element has an atom with the
electron configuration 2-8-8-27
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Arsenic and silicon are similar
in that they both

A ¢ same ionization energy
B hdve the sapfe soyalentTading
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D are metalloids

Which statement explains why the radius
of a lithium atom is larger than the radius
of a lithium ion?
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element at standard pressure has

A a higher melting point and a higher boiling
point

B a higher melting point and a lower boiling
point

€ a lower melting point and a higher boiling
point

D a lower melting point and a lower boiling point
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Whatis the total number of. denc®
electrons in a fluorine atom in the
ground state?
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